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" TABLE A.4 Characteristics of aluminum cable, steel, reinforced (Aluminum Cc

Aluminum Steel
Copper Geometric{ Approx.
Equivalent® Weight Mean Current |
Circular Strand Strand Outside Circular | Ultimate { {pounds | Radius | Carrying
Code Mils Diameter Diameter | Diameter Mils or Strength per at 60Hz | Capacityt
Word Aluminum (inches) (inches) | (inches) AW.G. |(pounds)| mile) (feet) (amps)
Joree 2515000 | 76 0.1819 19 0.0849 1.880 61700 0.0621 T
Thrasher 2312000 | 76 0.1744 19 0.0814 1.802 57 300 0.0596
Kiwi 2167000 72 4 0.1735 7 0.1167 1.735 49 800 0.0570
Bluebird 2156000 | 84 4 0.1602 19 0.0961 1.762 60 300 0.0588
Chukar 1781000 84 4 0.1456 19 0.0874 1.602 51000 0.0534
Falcon 1590000 ] 54 3 0.1716 19 0.1030 1.545 1000000 | 56000 | 10777 0.0620 1380 |
Parrot 1510500 | 54 3 0.1673 19 0.1004 1.5606 950000 | 53200 | 10237 0.0507 1340 |
Plover 1431000 | 54 3 0.1628 19 0.0977 1.465 900000 | 50400 9699 0.0493 1300
Martin 1351000 54 3 0.1682 19 0.0949 1.424 850000 | 47600 9160 0.0479 1250
Pheasant {1272000| 54 3 0.1635 19 0.0921 1.382 800000 | 44800 8621 0.0465 1200
- Grackle 1192500 | 54 3 0.1486 19 0.0892 1.338 750000 | 43100 8082 0.0450 1160
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